Run 4558 quartetwise, posH(O: Beam DH

Run 4558 quartetwise, negHO: Beam DIN
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Run 4558 quartetwise, asymOsub: BeamON  =eeeeee- Histogram Vars
— — Laser ON Entries: 3294 Entries: 0 Positive Hel (ﬂ”] 11.086294 +/- 0.004333
WO | ager OFF | Jeritriaecoaies | vemn: 0000000000 Negative Hel (ON): 11.191329 +/- 0.004365
soF - - Positive Hel (OFF): 0.000000 +/- 0.000000
- Negative Hel (OFF): 0.000000 +/- 0.000000
wol— Ll e Sums and Diffs
- On Diff: -0.105035 +/- 0.005569
80— Off Diff: 0.000000 +/- 0.000000
n On Sum: 22.277623 +/- 0.006682
o Off Sum: 0.000000 +/- 0.000000
o oy — Asymmetries
_ On Asym: -4.714799 +/- -0.249993 (ppt)
0l Off Asym: 0.000000 +/- nan (ppt)
1 Bkgd Subtraction
0" _El[;HI BkSub Sum: 22.277623 +/- 0.006682

BkSub Asym: -4.714799 +/- nan (ppt)
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Run 4558 quartetwise, posHO vs time
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Run 4558 quartetwise, asymQ0sub vs time
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Run 4558 quartetwise, negHO vs time




